Portescap

£ H|0{&! 5t0| E3 7|0{5l| =

RB2HT

A I|0fsl=E=s HYESHII X2 =2
E3J SMS MSELICt

R32HT & HIE2! 50| E3 7|0{3|l=E= Z[ICH ONmel DR =2 E3

MsS AEELICE 84 HIPEE FAHE o] 7|ofs=E= 2/F0] 32mm
ol E2{A| DC 2E{ MEZ0IA 745 3.1 7H% Z248t Portescapll
35GLT EBAI DC 2H ME 2ol Eatg = U&LCh

R32HTE Z|ICHONmMS| 2|CH 0i& ETE MBS E + /22 2 Portescap
9| 7|& R32 7|03 =2t R40 7|043E A0 H £2 E3 SME
A= 2o MEe SMULICE R32HTE SE P‘ E3d £F0lM

FYE MZE £2 2ES 20|22 FEH e 7HAtioM £2
o ¥4s0| EFELICE O] Z7|ojgfAaE EE% ARl SEE ok
LT et HESE s AELICH

R32HTE dOiMez HHMES m7(X|Z, 0 £2 E37F HQF
29%%%%%&?&MHE$HNEMﬁE*

L] P TR S

v ¥7Ea v MEe #oiE  /oosel A
Z|CH ONm A&E

Z|C A E3 |1
9Nm

A A= 7HEHOIM =2

HUZ2 M
HIMESIC| X2l
99.82| Z&H| AR 7t

o MH|A 22 38}
7| aelH
OjAM E &S
LE 2
A3 R=2}0[H
ks ol o

=% 33

* 35GLT




